
Stack solve MATLAB USE DLL BYTECODE MATLAB+BLOCKS USE DLL+BLOCKS BYTECODE+BLOCKS
algorithm mfs=0 mfs=1 mfs=2 mfs=3 mfs=0 mfs=1 mfs=2 mfs=3 mfs=0 mfs=1 mfs=2 mfs=3

0 68 60 93 54 96 crash crash 64 106 crash crash 81 134 220 238
1 123 110 118 29 26 crash crash 25 21 crash crash 101 97 crash crash
2 NA NA 1277 428 428 crash crash 425 422 crash crash 552 544 560 564
3 NA NA 1226 412 413 crash crash 409 408 crash crash 523 515 533 535
4 NA NA 95 288 579 crash crash 338 577 crash crash 70 FAIL FAIL FAIL
5 NA NA 1712 NA NA NA NA NA NA NA NA 276 270 269 289


